CECRL - A2 et B1 - Maitrise de [’anglais au téléphone

WORKSHEET

Page 1 = MARK - LONDON
Part 3 — CHANGE OF PLANS

Mission intermédiaire Emettre et vérifier des hypothéses

SPEAKING — PAIR WORK: Expressing opinions

TITTLE OF PART 3 reads: “CHANGE OF PLANS”.
What could this change be?

Partner A

Partner B
This change could be ...................... . | This change could be .........ccceueeveueuee...
[t could De..neeeceecreceeeeeeenees . |1t could b€ .
[t could De..nnreeeceeceeceeeeeeenes . |1t could be..eeeeeeeeeereeeenes .
[t could De..neereeecreceeeeeeenes . |1t could b€ .

LISTENING - PAIR WORK: Ticking the right answer

We listen to the beginning of PART 3 (from: "Hello” to: “flood
barrier”) and we agree on the right answers.

This "change of plan” is:

job related transport Mark's Amy's
related

major minor
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SPEAKING — PAIR WORK: Expressing personal ideas
| express personal ideas to my partner and listen to my partner’s ideas.

Partner A Partner B

A solution will be found: A solution will be found:

AMY Will oo . AMY Will oo e .
AMY Will oo e . AMY Will coeceeinrriviccvicvenenee o .
AMY Will ot . AMY Will coveeiirriirccricnieeeee o .
MarK Will ceeeeeeeveereneee crecreeceereeeeen e o MArK Will e ceceeeeceecnenee o .
MarK Will ceeeeeeereereceeee crecreeeeeeeeeen e o MArK Will e cceeeeceecnenee o .
MarK Will coeeeeveeereerecees cevecreeceereeeeen e o MarK Will e ceeeeeeeeceenee o .

LISTENING - PAIR WORK: Filling out a chart

L

We listen to PART 3 (from: "Tell you what” to: “good day"”). My
partner and | : a) Give separate answers - b) Agree on a common

answer.
Partner A Partner B
. AMY Will coueerererereceeseneeecenreceene e e
AMY Will cuerereierecrecenreceeeeecnenenes .
Mark Will c.eeeeeeeeeeeeeceeeeenenecreennes
Mark Will ..eeeeeeeeeeeceecreceereecneenees arKew!
We both understand that:

AMY WL coerreeeeeertetecereneesneceseeseessesesaesnessessesessesssessesnessessesasssessessesnessensesaasees

IMATK WILL cerereeneeeeeeececceeceeceecceecseeesaeeesaeeaeesssesseessessssessssessassssessssessassssasssesssnssssessans
WRITING

I write out full answers to each questions:

Facts Questions Answers

Mary is arriving.

Which airport will she fly in?

Mary is arriving.

Which day? When?

Mark is working. Where?

Mark will leave the |Who with?

keys.

Amy knows Tom Who is he?

Brogan.

Amy has got to go. |Why?
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READING - PAIR WORK — Understanding - Comparing

We each cross out mistakes in respective summaries of PART 3.

Partner A

Partner B

Mary will be arriving at London city
airport on Sunday afternoon. Mark
has got a problem at work. He is
working for a computer company and
they have a major safety problem. He
might not be able to pick up Mary at
the airport, so he'll leave the key with
Tom Brogan, their cousin. Mary needs
to go because her plane is flying in

two hours.

Mary will be arriving at London city
airport on Sunday afternoon. Mark
has got a problem at work. He is
working for a computer company and
they have a major safety problem. He
might not be able to pick up Mary at
the airport, so he'll leave the key with
Tom Brogan, their cousin. Mary needs
to go because her plane is flying in

two hours.

WRITING - PAIR WORK

b) We agree and write a common summary of PART 3.
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WRITING — Writing out a summary

On my own, | write out a summary of PAGE 1 (Part 1; Part 2; Part 3).




